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(3) = 8,000

(4) 78,900

(5) I A

TH Wi # 40 forx qu @ | il @ 4 Forex qu P

W I TR 4 v uEt e o T | e @ S
21 ¥R 3 frmn man | 3w wdw i fee qu ® TN ?

(1) 28fa=

(2) 2016
(3) 2634 1
4) 2736 for
(5) I A€l & AT

A BH q0% iftF $9E ¢ | A T W FW F
w mwﬁﬂwﬂﬁﬁmmﬁﬂ,mﬁ

mﬁmﬁﬁﬁﬁwmm%?

3 A
- 2077

@ 15 e
@ mnfea
(4 13R=

A, B and C invested T 80,000, ¥ 40,000 and
¥ 80,000 respectively in a business. A left after
six months. If total profit after eight months i
¥ 40,050, then what is the share of B in the

s CET Haryana 5 Nov
(1) ¥ 5,000 2022 2nd Shift Paper
(@ ¥ 9,000

(3) ¥ 8,000

(4) 78,900

(5) Not attempted

A container contains 40 litres of milk. From this
container 4 litres of milk was taken out and
replaced by 4 litres of water: This process was
repeated further two times. How much milk is
left in the container ?

(1) 28 litres

(2) 29-186 litres
(3) 2634 litres
(4) 27-36 litres
(5) Not attempted

A is 30% more efficient than B. How muech tin

will they, working together, take to complete a
job which A alone could have done in 23 days ?

3
1 o
(1 Eﬂ”dnyn

(2) 15 days

(3) 11days

(4) 13 days

(5) Not attempted

(5) ZeR T8 e =T

msﬁiﬁ!m:sﬁmemmum S LI



= SISl SR S Tt

#
4%.&%,&%

HE § wd
feeht an =it o
1 15

(2 16

(3) 4

(4) 10
®) I 3wy

5. ﬁmmxm

30

‘*“Hﬁm:zm,
.mMrmma.mgﬁ

y&x>y)® Lom, 161% |

: . at
Six bells Ommence tyjjipg yogether and tol ds
intervals. of 2, 4 6, 8, 10 and 12 semrldn
respectively, In 39 Minutes, how many times
these six bells to]) together ?

(1 16

(2) 16

3@ 4

(4) 10

(5) Not attemptaq

I_ﬂMuftquﬁménumbmxnndjr{x}r}iﬂ 161.

The value of (3y — x) i

By-xwami. 1.

W 1 @ 2

SR @ =2

3 —2 @ =1

0 =1 (5) Not attempted

(5) IW 7 ¥ wmy

If m=-4 and n=-2, then the value of
6. M=—4dM g=_9 g @ ma-3|n3+3m+3n+3ﬂ2+n3ia:

m3—3m2+3m+3n+3n2+n3ﬂilll‘ﬁﬁm 1) -126

(1) -196 2) -128

(2) -128 (3 -120

(3 -120 @ _124

(5) I T 27 =y

1
1 " 3718 = 2689, then the value of tmmlra?
- —— '2689 e m : . 13
* 3718 o ta 0-0003718 R 18:
(1) 26890 (1) - 26890
(2) 0-2689 (2) 02889
(3). 2689 (3) 2689
) 2689 (4 2.689
(6) 3= 110
T () Not attempteq
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The pripe
Principal that amounts ¢ & 4,91310 3 years

5. w1 3T F 620 3y i gy @ F T e
. 3 R By interest
o, s AR e R, ¢ g ggg @ T O S Per annum gompound
Mmpounded annually is :
g: 1) = 4,085 )
(1) 4,085 @ T40p8°
(3) T 3,096 0 riom
(4) 4,076 P
; t attem
(5) T 3 =T i ad
9. A sum was invested at simple interest at 2

9. qmmtﬁrﬁﬁ%ﬂmmmﬁnﬂaﬂiim certain rate for 3 years, Had it been invested at
fadw fom T | R 5@ el @, s @ F R 1% higher rate of simple interest for the same

1% it JUR =9 6 @ w fFew B ﬁmm_"'h _time, it would have fetched ? 5,100 more. The
78 wFUf 7 5,100 3w Ay w | a2 w2 sum is :
(1) ¢ 1,50,000 (1) #1,50,000
(2) % 1,70,000 (2) ¥ 1,70,000
(8) ¥ 1,20,000

(3) =¥ 1,20,000

4y ¥ 1,25,000
(5) Ier T 2= =R (5) Not attempted
10. & wwEm Gy &t #1 dard, o 10. Thelengthqfunasideufaﬁght-nng.:ledh'iﬂnﬂlﬂ
mﬂﬂ*%ﬂmmﬁiﬂﬁlﬂﬁiﬁﬁﬁﬂﬂﬁ Em_thehnsthuftheaﬂlarmdaandthe
j length of hypotenuse is 10 cm. The area of the

(4) ¥1,25,000

i “E;ﬁ | " triangle is:
1 : ! i
(1) 40 =f 3t 5 el
(2) S50 adt : R
' ; , (2) 650cm

(3) 20 @t _ _ el

. : : (3) 20cem*
4) 33= =nf ooft ; '
W 33 @ 3931 em?
(5) e T & =mEd .

(5) Not attempted

11, et g ) 72 @ W@ A 701 BH I A 324 _ il " s
I Aﬁﬂﬁmmqﬁqﬁt B &1L In covering a certain distance, the speeds
Gt ke and B are in the ratio 3 : 4. A takes 30 minutes

W.ﬁ?mﬁﬁlﬁﬁmmm@iiw more than B to reach the destination. The time
L 11 taken by A to reach the destinationis: -
(1) 2% _ (1) 2hours
1 ! ’
(3) 19 (3) Ihour
@ 11 @ 11 howrs
2 2
(5) A 1 WEA (5) Not attempted
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1. 12 ed
o 3t e ) (R ) e g s mixture i 7: 3Thﬂwater(m11tf“’5}mheadd
ﬁggaﬁﬂmﬂﬂqﬁz 18 W 2 m;ttumakﬂthemmufmﬂkmwaterﬂ 1is
(1 6 1 6
@ 8 @ 8
(3 4 3 4
4 5 (4) b
(5) T 2 =D () Not attempted
3w ﬂ;“” Tﬁ?“ﬁm 4. wqm w|qs, Thedimenaionsnfarectangularﬂmrofnrmm
;{‘:ﬁéaﬁ"“ * 4. TR W 2: 1% sgym A when increased by 4 metres become in the ratio
l wet i R 2 4: aandwhendmase-dbydrmetrmbmmem
(1) 187t = 224t the ratio 2:1. What are the dimensions of the
2) 187, x 24 ¥ floor of the room ?
: 1) 18mx 22
@ . 12, x87h. Skl SIS,
(2) 18m=x24m
4) lﬁlﬂ‘.ulﬂlﬂ, i
i3 12mxBm
®) T T (4) 16mx1Zm
(5) Not attempted
4. T J2 =141428%, 9 ' L ot :
J2-1
14. If /2 =1:4142, then i al to
1) 04142 Ea .
, (2 o3e52 (1) 04142
(3) 0732 (2) 03652
(4) 13142 (3 0732
(5) Ia g &N =Ed (4) 13142
(5) Not attempted
15. @2 a, b, c % Ga M9 ab + be + ca =0 &, @ '
aﬂ,bﬂ_ﬁﬂaﬂﬂﬂt; 15. Ifthenverageufa,b,cish[andnh+h¢+ca=[},
213 32
() EMz tlmnthe:\remgenfa*b,n i
@ om’ v -5:2
2
@3 M @ 92
3
@ am &) :;2
4
' (5) I T ¥ =TT -
5
MARA/C2/Page 5 (5) Not attempted

L b L

S TN ERSIETE e b,

uﬁﬂﬂmﬂﬁmﬁ@mmmw 7T:3%

rhe Tatio of milk to water in 80 liEree ik
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1. M

2R
i ﬂmﬂﬂﬁ%wﬁ}mt|

i W:{qﬂﬂfﬂﬁ'ﬂﬂq&amﬂmtr
© wE B O T g g

| 1
5 it # P & & gqmd 59 O

Which of the follow
about compounds 9

(&) It shows the :
Propert :
Iy 188 of the constituent

ing statementg is/are correct

(b) The composgition

always fixed,

of each new substance ig

afufnad S0 & o f o g | S0 tonatiburity g 1y pyurersd only by
Chsmienl or electrochemia] regetions
3 e e F2 A 8 T Ry w1 i Choose the correct opy; '
iy o0 from the codes given
(1) ()T (ch e
@ @ g; (h:land (c)
Only (a) .
a1 (b) ;
® (@ - (8 (a)and (b)
(4) (a)@(c) (4) (a)and (c)
(5) IR TE & =TE (5)  Not attempted
17. Fefafen & @ #R-08 s e fom & 17.  Which of the following statements is/are correct
o & fwa F wdt R 2 | about the properties of a Colloidal Solution ?
(a) WIS U ATt fys 2 (a) A colloid is a heterogeneous mixture,
- . (b} The solute particles settle down when
(b) mﬁmizmﬁ;&mmtmﬁm colloids are left undisturbed, hence, eolloids
7 W .ﬁmﬁ[mﬁmmﬂﬂﬁl B
(0 #elE 5 a2 8 & 5 vem & R 9 (¢) Colloids are big enough to scatter a beam cf
bl Fd & e 3% el 9 gem light passing through it and make its path
: visible. -
2 Ry 2§ & wht frew w1 = A Choose the correct option from the codes given
(1) () (e) below : : '
(2) %= (a) (1) (b) and (c)
3) (a)ad (b) (2) Only(a)
(4)  (a)@(c) o Soanc)
(5) I T Z =R (4) (a)and (c)
: i : (6) Not attempted
18. 683 T fhen weww § e feew vk § g ;
: g e | 18 Which film won the ‘Best Film on Social Issues’
ﬁ*‘: i ¢ W wdi o’ it Award in the 68 National Film Awards under
T . ; the feature films category ?
(1) e (fadfén o wws) (F93) (1) Taledanda (Beheading a Life) (Kannada)
(2) gEw (F9) () (2) Natyam (Dance) (Telugu)
(3) waen (afde) (8) Mandela (Tamil)
(6) Im ﬂ'ﬂiﬂT W (5) Not ntt-empt.ed

MARA/C2/Page 6
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I g b e mememirnafiOn. LANdidatee am o __

emad b, il

" T T, U Saren R e ey 3
¥ el 6 SN FHA R

gt & A i wfy
FRmeH drrd
M AT o

ERELE D B
I T 3 W

(1)
(2)
(3)
(4)
(5),

wwEn Refefen & & R spisehem w1 dfom
7t a2

(1) ey fageh fam
Tewfi =NR T
Fzafin

T iy

IR A T

(2)
3
(4)
(5)

2. SRAMR % Vi 4 &
. w3 § 2

(1) &= 3@ A
(2) AR s@m

(3) < e

) S 3t e T

(5) 3% 4 2 =3

P & & W2 i

6) 37 &

—

19.

20.

Z1.

,) 22,

MADA I~ = —

PTRATIERAD IO BN SEiEv T

;nemugraphic Trﬂﬂﬂiﬁnn” a concept devalﬂpedt:::
grank Notestein in 1945, described )
relationship between economic development 0%

—

(1)
@
3
(4)
(5)

Loss of lives in epidemics
Cartographic boundaries
Social crime rate

Death and Birth rate

Not attempted

Which among the following will not be ordinarily
considered an outcome of globalization ?

(1) Foreign Direct Investment -

(2) Multilateral trade H-.ETEEII]EII.T.S

(3) Outsourcing

(4) Tariff barriers

(5) Not attempted

Which of the following industries has the

maximum concentration in the Chhotanagpur
Plateau region ?

(1)
(2)
(3)
(4)
(5)

Fertilizer Industry
Automobile Industry
Sugar Industry

Iron and Steel Industry
Not attempted

Nataraja
2 e
(D Kali '

(2)  Nandi

(3) Krishna

(4)  Shivg

fEy -



4.

; ﬁﬁﬁﬁﬂiﬂﬁmﬁﬂmfﬂhﬂﬂmaﬂJ

(2)
# .
ﬁlﬁmﬂmﬂmﬁﬁﬂiﬁl

72w () frelt otz 1w e Rt
3 oin (wve it wiet) Feufdy wde ot B

<o T8 & TR

(3!
(4)

(5!

pofifes # ¥ SR & TR deR fem
(@) 7 R

(1) WmMDB

(2) TR

(3) w¥sQL

(4) i

(5) Few TE N A

30 Yeafdn Aol B w1 w7 W dan
I TE A AT A TR R R ?

(1) T e

(2) TR e

(3) wH TGSl

(4) o el

(5) I AR &M =R

25.

BE)

46)

When s the built-in
Taised ?

(1)

exception [mport Error

It is vaised when g Joeg] or global variable
flame is not defined,

(2) Ttis raised when the index or subscript in a

sequence is out of range,

It is raised when the requested module
definition is not found.

(3)

\4) It is raised when the end of file condition is

reached without reading any data by
input (), ' ;

(5) Not attempted

Which of the following is mot a Database
Management System (DBMS) ?

(1) *MongoDB

(2) Microsoft Excel

(3) MySQL

(4) Oracle

(5) Not attempted

What is the name of the Networking Topology
where each communicating device is connected to
a central node 7 :

(1) Mesh Topology

(2)  Star Topology

Bus Topology

Ring Topology

Not attempted

(4)

80 26. Which of the Ellluwing. is ;lwt an example of
: secondary memory 7
) b (1) Memory Card
(2) ﬂz et it (2) Read only memory
@ wdfoms g (.84 (8) Hard Disk Drive (HDD)
(4) #A W (4) CDROM
(5) IR A &A1 TR (6) Not attempted
MARA/C2/Page 8 1% =T % FTY T | SPACE FOR ROUGH WORK P



el Cwr arme i

Join Telegram Group Ag¥¥ariJob in" '
A | T
o onal (last) Article of 0

mﬁﬂﬁﬂﬂﬂaﬁ'ﬂ%ﬁ,ﬁﬁﬂﬁﬂﬁﬂdﬁﬂﬂ' pich of the
ﬂﬁgﬁtmﬁﬁﬁfﬁiﬂﬁ%ﬁiﬂﬂiwﬁﬁ'ﬁ tes the provision r.'ala_at,uﬁzd.15""1"'ir

A 2?7 ' fu]_lo‘ﬁ’ing ? -

@ e S rfufrm, 2019 1) Citizenship Amendment i}ct, 2_019

(2) e TR (2) Formation of New States

3) sedte waAa fufam, 1947 H A | @) Repeal of the Indian [ndependence Act,
@ @ JgaEn | 1947 .

(5) I T AR (4) Proclamation of Emergency

(5) Not attempted

%#mmﬁwﬁmﬁmmm

o & Rt i ) wRwm w & Pt 3 3|28, e

A tryst with destiny’, is & famous

Justrative of India’s i dependence made by

frmmeaAfEma?
(1w e - - which of the following members of the
@ &3 wE © Constituent Assembly of India ?
(3) AT TEE (1) S.P. Mukherjee
4) IR T : | @ Vd Patel
(5) S A ¥ | © (@ J.L.Nehru
- X | @ BR. Ambedkar
ﬂ.ﬂtwﬁﬂﬁwmu@mgq—ﬁnﬁm% (5) Not attempted
i ; 99, The study of writings engraved on hard surfaces
D, R | auch as stone or metal is called .
e DS EVEEL | g (1) Iconography
(3) TIEA _ o thy
T ema ] (3) Calligraphy
(5) I E &A1 9Ed ; VO e

_ ; (5) Not attempted
30. ‘ﬂﬂﬁmmﬂ’mmi
(1) mﬁﬁmﬂﬁ%mmm 30, ‘Matdata Junction’ refers to:

vt g A T e e (1) radio series produced by Election

@) waEma B s wwH # R w T Commission of India for voter awareness.
WA & W | (2) name of a new railway station to raise voter

(3) ﬁamm:maﬁa;mﬁmﬁqw awareness.

W drew d W dwe ¥y Rd @ A (3) special polling booth for Divyang voters.
ftreor HEHT ' ! ‘?4] training programme for officials to handle

POy e 1 LI . o pﬂata]. hallﬂt.

RNt g P ——
’ fp— " .
rda iy "Comelr e d s




r o0 A § :
| : ﬁmiﬂﬁﬂmm‘mﬂ’m%ﬁﬁ“%? m“ﬂﬁ‘lﬁh&mmqﬁ%.

; - Hfe
31
(1) far (2) oy

oz .

(2

B) s

@

@) Ll W wa

o T TR ' (5) 3% ¥ am
g, o R A GR R Rifirfian ol # 3 argg 3|36, ‘seare’ we 3 fory s 3w AW R ¢

m;ﬁ L (1) gt frw & 8 & e 2

(1) ¥ Somr TRER WS A | .

(3) P T AR B A A T ww" | (3) wEea & w1

@) :{;mmﬁﬁsazmmgg@w @ % 9w wEn

|
(5) IWAE I TR Fm mqﬂhﬂ@
37. ‘yeure’ Gued 95 1 g g — gl | 39 |

33. &l Rgua w9, s 3ufe S, I AN A Ao TR S SH- T R 7

fodt 7g o ), o e R 7 i

ek evedey Pt s et L () 3R e

M we ] & SR T

(2) wiftmm (3) = T

(3 wm (4) ©WER T

4) = (5) I & oM =read

(5) I o T T

| 38. @0 AR A wgg T= T = P )
34. fEumu form o f wwi MM g R 2

(1) ffEg
(1 W (2) s
@ W @ e
. (4) Teavias
(4) W :
(5) IW 3 T 9w
(5) I F & e ,

MARA/C2/Page 10 1% ®W % fre T | SPACE FOR ROUGH WORK



s9.

(4)

. 40.

41.

42.

preafefn T R B o B - o w9
zafen & 2
(1

(2) wEEE
3 fa

fagart

(5) I AE A A

rferfiaa & & FFm S =1 wrad gem T R 2
wren AW W T = Fra

g wm H w9 = sdve e W e
AT

f i W ew feawm

(4) .miﬁgﬁ:m = w-age Tt | we
(5) IR T = :

(1)
(2)

(3)

(5) IvR TE &1 =TEd

ﬁnﬁﬁiﬂﬁﬁqﬂqﬂﬁmwmwmﬂ

_‘ﬁmﬂ“———i!’wﬁ“ﬁ“ﬁﬁlm

' ‘fmﬂ'ﬂﬂm‘ﬁ“ﬁﬁﬁmﬁﬂm'

P
AT
i

e
FoC Tl &A1 e

(1
(2)
(3
(4)

(6)

ﬁammﬁ%ﬁaﬁmimﬁiﬂ'm
e g 8 7

(1 fagmd @R w@ R

(9 wRETEEE@EI
(3) ﬁ.-,ngMﬁmaerﬁ'?
w#wﬁ@_mﬁwit

e ] & <

4)

(5)

| o & w2

Y (1 wafe

(1) ¥® (2) e wfu
— @ &

(3) @l ;

@ W (4) v &MY

(5) e & =ed (5) FaUAE & e

MARA/C2/Page 11
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48. Rearrange the following parts of a sentence
labelled as PQRS to. make a meaningful
. . c

P, leave no regret are

Read the following passage carefully and ansy,,
questions 49, 50 and 51.

Tiger is one of the key wildlife species in the faung
web. In 1973, the authorities realised that the tigg,

| population had dwindled very fast. The ﬂ"ﬂjor'thl‘ﬂata

to tiger populatmn are numerous & such as poaching for
etc. The trade of tiger sluns and the use of their bones
in traditional medicines left the tiger pﬂp’-ﬂﬂlﬂﬂ on the
verge of extinction. Since India and Nepal provige
habitat to about two-thirds of the surviving tiger
population in the world, these two nations became

Q. gained over ignorance
R. the only victories which
8. those which are

(1) PQSR

(2} QRSP

3) SEQP

(4) RPSQ

(6) Not attempted

Choose the alternative which best expresses the
given sentence in Active Voice.

- 47.

prime targets for poaching and illegal trading. “Project
Tiger”, one of the well-publicised wildlife campaigns in
the world, was launched in 1973. In India, Tiger
conservation has been viewed not only as an effort to
save the endangered species but also as a means of
preserving biotype of sizeable magnitude.

It is being read by us.
(1) We can read it. 49, Find out a word from the above passage which is
(2) We have to read it. pchiston it o
(3) We are reading it. S——
: (2} threat
(4) It will be read by us. (3) extinction
(5) Not attempted (4) faunal
¥ (5) Not attempted -
48. Read the sentence to find out whether there is |59, The skin and bones of tiger are also used
any grammatical mistake in it. in -
Mark the number of the part with error as your (1) to save tiger from extinction
answer. If there is ‘no error’ mark (4). (2) in preparation of food products
: (3) as raw material in small factories -
The scientist was seemed to be excited @ s tradifionsl medicines
A g B (5) Not at.tnmpi:ai '
_ over the result of his experiment.
. c 51. The major threat to tiger populations is
(1» B (1) Poaching for trade
(2 A (2) Industrialization
3 C (3) Lack of Tiger Reserves
(4) Noerror ' (4) No Government policy
(56) Not attempt&d (6) Not attempted

MARA/C2/Page 12
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thair gwn ane * -

. Choose the alternative which best T

g Which of mm:‘m below should replace 56- neaning of the underlined idio™- ik
the phrase er tm]:li the following sentence | . He had & hair-breadth escape from the acc
it grammatically correct ? : —
o make ! (1) fighting
uChe ghowed courage in advocating policies which (@) jmpractical
__ were not Ei;_ﬂ!lﬂfﬂn acceptability then.” . (3 very safe
common in acceptability than ATTOW
& commoniy annapmhleﬂin .
@ (5) Notattempted
) commonly accepted then
| (4) then common acceptability ° g7. Life history of a man written by himself 18 s
[ (5) Not attempted :
LI
: . _ (1) Calligraphy
5S. f::::::ﬂ most appropriate preposition to fill in @ B ibliography
Visitors . th garﬂe. hlblted R =g
- n m 3 5 »
w:mg':l th: i o (4) Autobiography
Q) for - (5) Not attempted
Il o _ : 58. Select the word that is most similar in meaning
Ll ' . to the given word.
4) with : ; ,
| (5) Not attempted EEni
| (1) Cunning
‘ 54. Whichuueisthamrectindimctparmﬁanufthe (2) Patriotic
following sentence ? (3) Uninspiring
He said, “T'wo and three is five.’ _ ._ (4) Poetic
(1) He said that two and three was five. (5 Not attempted
(@2 Henaidthattwﬂandthreewereﬁﬁe. :
(3) He said that two and three are five. |89 Find out the correctly spelt word.
(4) He said that two and three is five. (1) thesaurus
(5) Not attempted (2) thesoraus
' (3) thasaurus
55. Fill in the blank with the most appropriate (4) thisaurus
option given below. (5) Not attempted
He was advised the seminar without .
preparation. 60. Find out the correctly spelt word.
(1) not to attended (1) prettentiousness '
(2) to not to attend (2) pretantiosness
(8) not to attend ' (3) pretantiousness
:;'; ::;”t attend (4) pretentiousness
i ttem
sitampted (5) Not attempted
MARA/C2/Page 13
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61. e ¥ T MS wpivw w vfgw @ F

T TR 7

(1) 1960

(2) 1965

(3) 1979

(4) 1970

(5) I m e

62, efamm % frm Foet o ‘wreardt ym e’ w27
(1) TR
(2) wigER
(8) Teaw
(4) v _
(5) I T TN TE

63. TN w1 U= 9y FH-A1E ?
(1) ==
(2) ‘gl
(@ weft
(4) e fEm
(5) I AE L1 WTER

64, Tom et 1 gRamon F BT gR % AW @ ST A

2?
(1) A 7 e
(2) wTER % feen

(3) e & T

4) wEReR = feen
(5) FeR T & =T

65, Efmm
(1) HAfaE e
T (@) e
(3) W @
(4) W @
(5) I 7L &1 =g@

#msm:ﬂﬁmﬁﬁm% I

Hl..

When was the State Council of Educnn%
Research and Training established in Haryang

(1) 1960

- (2) 19686

(3) 1979

(4) 1870

(5) Not attempted
‘Saraswati Sugar Mill' is sitoated 10 Whig
district of Haryana ? '

(1) Yamunanagar

(2) Faridabad

(3) Rohtak

(4) Panipat

(5) Not attempted

Which is the state animal of Haryana ?
(1) Tiger - :

(2) Horse

(3) Elephant

(4) Black Buck

(5) Not attempted

Which fort is known as the Gateway of Haryana ?
(1) * Kanod Fort

(2)° Maham Fort

(3) Gohana Fort

(4) Bahadurgarh Fort

. (5) Not attempted

Haryana is located around 300 miles North of the

(1) Greenwich line

(2) Equator _

(3) Tropic of Cancer
(4) Tropic of Capricorn
(5) Not attempted
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Rul#&
i me
o, e A O T SN F o w dw ey, |6 credit. for propagating th® s

ogvement in H ‘40
a mﬁqﬁ'{ M " aryana goes to
(2) oER T fl | o 2
(3) e TR @ Thaker Ram Singh
E Lala Murlidhar
(4) 4. FEW wmi Lk e

4) Pt. Nekiram Sharma

IR A8
) e (5) Not attempted

g1. P iﬂﬁm‘ﬂmmwmt? 7. Whichu{ﬂlefo]]uwingisknawnaﬂthETajMahal

1 @ = of Haryana ?

@ i gl = aww , (1)  Sheikh Chill’s Tomb
(3) ¥iw wea (2) Ibrahim Suri’s Tomb
(4) << WEd (3) Sheesh Mahal

(5) TR T & =R (4) Jal Mahal

d (5) Not attempted
8. Frfafea § @ few & I w9 w1 Fonga gedt g

T T s 2 68. Which among the following folk.dance forms is
1 e not performed by men ?
@ < ' 1 e
& (2) Chaupaiyan
@ = il R
(4)  Daph

{?} TR e (5] an.".nttempted

e p—

| 89, i el 5 1 9 whawn F Aeafafed A3 R0y pr Lakhmi Chand was born in which of the

i & g ? n/  following village of Haryana ?
(1) e (1) Jantikalan
(2) e (2) Sihi
(3) W@ (3) Mokhra
(4) et (4) Nahri
(5) I 7 TN = (5) Not attempted
70. et 3 fa aa yefoa em gR A e arding | 70 The fort of Asigarh situated in Hansi was built by
*ﬁi}ﬂmmmﬂﬂ@? ) Prithviraj Chauhan in which century ?
(1) 14 7@ : (1) 14" century
2 174 w@ . (2) 17t century
(3) 1241 v " (3) 12" century
@) 1541 5@ (4) 15" century
(5) I ¥l & wwa (5) Not attempted
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71.

74.

75.

o & 8 TSt & e o wmg e 22
(1) v=EF
(2) e
(3) TEa

(4) TEM
(5) I A & =T

31 fww, 2017 % &7 efamn § www 6 BBY
TR REE s R

(1) WIEER s g

(2) W s T

(3) awrar S Ao

(4) Frarelt w=nadt Qe
- (5) IR 78 T =R

afamon § fFg o wewsm @ @O (DBT) Fra
IR BHT ?

(1) 2014

(2) 2015

3) 2011

(4) 2013 :

(5) I A€l &1 e

afea # ¥ =ifs Rl 6t @ya a¥ 2020 - 21 7F ,;,4_

g foheedt #1 e R 7
(1) 120045 3fe
(2) 1540-45 qf2
(3) 1000 3fe

(4) 1805-45 I
(5) I €l &M =

ghamm o wwe % faeia ad 2022 - 23 F F7 W
%1 foan sfowa gferm & & = & for Avife f
™R ? :

(1) 6-2%

@ 21%

(3) 46%

(4) 43%

(5) I A4 21 9@

limim Telamramy 0 remss 1ms

71.

72,

73.

75.

(D

(5)

Which district in Haryana has the niEhgg-L
iiternc:.r rate ? :

(1) Panchkula

(2) Kaithal

(3) Rohtak

(4) Gurugram

(5) Not attempted

What is the full form of BBY s “
December 31, 2017 in Haryana *
(1) Bhavantar Bharpayee Yojand
(2) Bharatiya Bima Yojana

(3) Bagwani Bima Yojana

(4)  Bijali Bachao Yojana

(5) Not attempted

In which year was the Direct Benefit Transfe,
(DBT) Scheme launched in Haryana ?

(1) 2014

(2) 2015

(3) 2011,

(4) 2013

(5) Not attempted

cheme launched on

What is the increased per capita consumption of
electricity in the year 2020 — 21 in Haryana ?

~ 1200-45 units

1540-45 units

1000 units

180545 units

Not attempted

(2)
(3
(4)

What is the percentage of total expenditur
allocated towards Police in Haryana Stat
Budget for the financial year 2022 — 23 »

(1) 62% ;

T @ 21%

(3) 4-6%
4) 43%

N arlrare Jalae ™



76.

77.

- | T8.

Shori. Bazar i, Rohtak is Harya_l'lﬂ'ﬂ largest
Market,

Auto Spare Partg

Wood

Cloth,

Grain

(1)
(2)
(3)
(4)
(b) Not attempted

Who is the firgt wrestler to win a Gold Medal in
Commonwealth Games in 1958 7

(1) Master Chandgi Ram
(2 Lila Ram Sangwan
(3) Sajjan Singh

(4) Pahalwan Udaychang
(5) Not attempted

field of Science and E
‘1) Moti Lal Madan
(2)  Raghuvendra Tanwar
®)  Sumit Angi

(4) .
(5)

Rani Lakshmi Baj Aw
in which areg ?

(1)
2)
@)
{4)
(5)

Science
Social Work
Literature



&7

=

Yho was the first Indian to be appointed as th,

81 1913 # WM ¥ g 3 ey et ¥ first C
hief J jigsn
Fﬂﬁﬁ'ﬂﬁqﬁﬂmﬂ-ﬂq&? il 1913 7 o <lustice of the Punjab High Court i
(1) e e (1) Gopal Singh 1
(2) e e (2) Alok Singh
(3) W B TH (3)  Sir Chhotu Ram
(d) = 789 ﬁ'ﬁ (4) Dr. Earup Siﬂgh
(5) IR T8I & = (5) Not attempted
s ; 82. When was the first Haryana State Finance
g2, ERETN U -‘m‘m %1 737 HA E Commission formed ?
(1) 26 ¥, 1994 (1) 26t April, 1994
(2) 15 AR, 1994 (2) 15t October, 1994
(3) 2:1:-:; 1994 (3) 2" June, 1994
(4) 317, 1994 :
: (4) 31° May, 1994
© 38 ¥ e "
(5) Not attempted
33.'- @-%-ﬁﬁmmmﬁmﬁq _m'tgﬁﬂ. M.K. Gandhi was arrested on which date from
forn T, 9w A W e o iy w0 T Palwal railway station while going to Punjab to
47 protest against the Rowlatt Act ?
(1) - 10 ¥¥, 1919 (1) 10* April, 1919
@ 10 i, 1918 (2) 10% April, 1918
@ 10 =, 1915 3) 10t April, 1915
(4) 10 “:;;9;; (4) 10%™ April, 1917
() T : 2
- (5) Not attempted
84, wfEmn % o wagg W WA AW T R ? .
© B84, What is the ancient name of district
il Mahendragarh in Haryana ?
e e {ll_mag;t P
@ Wi @) Satyevp
; uram
W (3) Kapisthal
5) IW
) (4) Sairishaka
a5, e 1 T o & o 3 g g (O ool
et & 7 85. Thgsmvalmﬂmsmnnﬂuundmwmchdumct
(1) I of Haryana ?
2 famm (1) Yamunanagar
(8) v  (2) Sirsa
(4) arETE (3) Panchkula
| (5) FaT Ad & e (4) Ambala
o G (5) Not attempted AT
RA/C2/Page 18 T %
MA o ﬁ"‘!“m SPACE FOR ROUGH WORK



L] 1“”‘
oo ﬂ%mﬁmtﬁ "i&?’milmﬂ'ﬁmmﬂﬂ. 'I'hree .ﬂtllbementu are followed by three
ﬁmﬁiﬂlﬁ*‘%tq% ﬁmmﬁ!ﬂﬂﬁ‘h m“l“m“m?T“ktheatatementstubeh-ueeven
3 fsem/feey § | o a0 my ey ‘“h“"“’““"“”ﬂnmeﬁvmthemmmmlr
e known facts, Decide which of the given
i bl 8 conclusions logically follow(s) from the given
“ﬂa‘nkﬁg! statements,
7O et S § I Statements :  Some apples are grapes
At D woay g, . All grapes are bananas *
[III} ‘ﬂtﬂ'%a Eﬂngl lecﬂusm’ (I) Smnehanm“mp]ums
(1) ¥ 111 Freran § D Some apples are banangs, v
(IID Allhﬂnanaanmsmpeuﬁ
(2) = 1ain Hlﬁm&t (1) Only II foflows
(3) aﬁﬁIﬁtHﬁ‘ﬁaﬂﬁ (2) Dnll’lﬂﬂdmfullnw “
(4) mllma 13) Only 1 and 11 ooy,
5) IR T I 5y (4)  Only II follows .
(5)  Not attempieq ‘
87 m!ﬁnnﬁ‘u’mmmgv :
XaL=2 B87. .Whﬂt'ﬂthevaluénf‘u’inthjgmmm?
Pﬂ.sz \ X(I.L=2
LuF=2 PIII'.H=2'
1 x (1) Lu:F:z
x
(:: - (2) - 1
g ¥ 3 +
4) + . 4 =+ _
(6) I 78 T 9 (5). Not attempted
88. P,QR,s, TRehs wm | PFHER, By Q 88. P, Q;R,S.leeutunapimic.‘l"istheaonnf‘Q’~
P o off 2 I REFT @R Pwoad | But‘q’isnotmeﬁmerof‘?.‘n’mthemnf‘s',
T Ehd ) whniuthehmthernf‘P',Tisthewifeof‘E’,
= 2 P |?
i e
(2 fm & N'“
@) vt i P
(5) e Tl 3 AR (5) Not attempted
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G i
writte?

wmr °§ XYZ i
g9, el T F CYZA % 1234 ok EFGH #89. In a certain code language XY2" P
10 % 0 # foran g, @ - p— pXC
789 , W I FE W 1234 and EFGH as 78910. How **
mgaa‘iaaﬂﬁﬂmm ? "} e
t code language 7
(1) 4017 : (1) 4917
ol W ' (2) 4217
@ axn 3) 4197
() 417 4) 4179
I e
(5) IR o : _ (5) Not attempted pal went
90. maﬁﬂm,mmmmmﬁﬂ,m Threafriundaﬂmlt;mfahltﬂe Lill was T€ v
: taurant. n an
Thﬁmﬁuﬁmimmaﬂuﬁﬂ ¥ ia T8 :m; unhﬂﬂﬂﬂbitspd
* * Amltﬂ i = as m
-ﬁ-ﬁmaﬁﬁﬂmﬁmmzﬂnﬁnﬁﬂ%ﬁml e~ ] a1 paid If the
. : o iy an
aﬁf%ﬂ#ﬁamwmma,rﬁmﬁ Eﬂb“‘”’miumw:h“{:hth aniountpaid
ﬁ?ﬂ*uﬁimgwﬂﬁmi? hiupaiaia?ssan,thenwhﬂ“ﬂ i
@ - (ar € X9
(3) T 180 B3 ¥
o o |
(5) IR T FAT =R :
(5) Not attempted
1. ﬁmmm_tmmmﬁm 7 9 ¥4 g1 Find out the word which cannof be formed by
e WEg W HIA using the letters of the given word : :
VERIFIED VERIFIED
(1] R (1) FRIED
‘2 FRIEND 7 (2) FRIEND
(4 DRIVE e - _ (4 DRIVE
(5) ‘IR T T &) * Nobatbemptod
92. ﬁiﬂf‘mﬁﬂmﬂﬂFGHJﬁFHHLﬁiﬁqﬁﬂﬂ. I.uaczertailimdellaugua
ge DFGHJ i ;
Py w1 & | 36 e W # AUDIT % frm s FHIJL. How is AUDIT wri -mwmten“
written in that
fer@n smem ? o language ? code
(1) CWFIU (1) CWFIU
(2) CWPJIV (2) CWPJV
(3) CWEJV (8) CWEJV
(4) CWFKV (4) - CWFKV
(5 IMAGFNEE (5) Not attempted :
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mﬁahﬁ%:%ﬁﬁmmﬁm
L ol % e WA A
O g
1 2 4 . M
{:11 3'!415:12| 1!5 E
(2) 6,4,8,2,5 4
(3 3,4,5,6,2 1
(4) 5,4, 3, 11 2.5

(5) mqﬁhm

o4, e § 2 Rt w2 i 4
(1)

(2)

f&= wEmm
I "I
(3) T 6w
(4) AT WETERER

(5) I Tl 2 =

95. @Wﬁmﬁwﬁﬁqﬁqﬁﬁmmﬁ

et o 9 6 A v gm F Ry ek
M : A

HAHR — ox ==

qR -

9 — TeREn

arffas —

I A€l &A1 =Ed

(1)
(2)
(3)
(4)
(5)

-

B‘I

the
Select the combination of pnumbers S0 that
letters arranged aeccordingly will
meaningful word :

form Aa

1 L B O
1 2 3 4
(1 3,4,6,2,1,5
(2) 6,4,8,2,5,1
@ 3,4,5.6,21
(4) 6,4,3,1,2,5
(6) Not attempted

E M
5 .6

Find the odd one out, _
(1) Indian Ocean

(2) Arabian Sea
(3) Bay of Bengal
(4) Pacific Ocean

(5) Not attempted -

Choose the correct option in which the words are
related in the same way as in the given pair of

words :

Singer : Chorus
(1) Artist — Paint
(2) Robbers — Loot
3 Flnwm = Bm.tqmt
(4) Musicians — Song -
(5) Not attempted

96. @mmﬂmmﬂﬁﬁqgﬁim 96. f;::n::e-uthe correct option, which is related as
| W . 11:120::256:?
11:120::25:? .
ol 5 (2) 624
— (3) 250
& o (4) 125
£ - 78 & = | (5) Not attempted
(5) Il
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97.

) dom =@ T @, w6 oom w0 R (1) continue hard work as hard work always
WA A=S R R | ) pays. _ _
(2) R+ = v =0 | (2) start praising about your work yourself.
(3) = Big I (3). leave the job.
(4) % agdifEl ¥ G Ie sErE F= | (4) criticise him in front of other colleagues.
(5) I T4 20 = (5) Not attempted .
99. 3@ SJgen A p WA TR R - 99.  Find the value of p in the series :
l l P —1' i lililtp.r'.l_l_L
: 3 » g BEN E_-l" 243 3 9 81 243
1 1
1) — ) —
29 2
1 5 1
i 2} —
(2) — 39
@ @
27 27
(W) i W
21 21
(5) o A€ 3 W (5) Not attempted
100, H= @mﬁﬂﬁﬂ?mmwﬂm 100. Choose the missing number from the given
fora@ g Jg kil : options that will complete the number series -
55, EE, 'E'BI- Ell Eﬁ‘l - 55, Eﬁi 53, ﬁ]_, 65.
(n$y m (1) 7
(2 72 (2) 72
(3 70 (3) 70
(4 69 (4) 69
(5) I AE &N = (5) Not attempted

A, By L M T L K

ggﬁaiﬂﬁl D, B 2
ma*,wmmwm":?jj{;ﬂﬂ
FdgaEtl ‘F’*“@’Eﬂaﬂqp :

(1) ASNB '

(20 c3MmD

(3 B3ND

4) AINE

(5) IR A8 N =g

AT TR TR R e e oftem a1 s S O
weall, S S e R o R, 3 & R 1T
1 Hi ?

mmﬁaﬁﬂﬂ - b

?lheﬂ,neitzj En?u]: F are sitting in 2 circle facing
and ‘B’ is not the m hﬁhmediatﬂ ﬁﬂht‘ﬂf ‘B
is between ‘A’ and]?[:n# melghb= " prx
o . are the neighbours of
(1)
(2)
(3)
(4)

(5)

Aand B
Cand D
B and D
Aand E
Not attempted

{l" the hard work done by you at your workplace
is hijacked by one of your colleagues, who is a
good friend of yours. You will :
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